CONSTRUCTING A STATEMENT OF CASH FLOWS

The Indirect Method of constructing a statement of cash flows is relatively straight-forward.  It is derived from information on the beginning and ending Balance Sheets and the period in-between the two which is encompassed by the Income Statement.  The key to doing so is based upon the idea of what constitutes a "source" of funds and a "use" of funds.  These can be defined as follows:

Source of Funds

A decrease in an asset account from one period to the next (as in the collection of receivables)

Or


An increase in a liability account from one period to the next (as in an additional bank loan)
Use of Funds

An increase in an asset account from one period to the next (as in the purchase of inventories)

Or


A decrease in a liability account from one period to the next (as in paying down accounts payable)
Assume that a company had the following beginning balance sheet (ending balance sheet for 2004):

Balance Sheet - 2004

Cash



   50,000
Accounts Payable


100,000

Accounts Receivable

 180,000
Bank Note



  90,000
Inventory


 200,000
Total Current Liabilities

190,000

Total Current Assets

 430,000







Long-Term Debt


220,000

Gross Fixed Assets

 400,000
Common Stock


  10,000

   (Accum. Depreciation)
(130,000)
Retained Earnings


280,000
Net Fixed Assets

 270,000
Total Equity



290,000

Total Assets


 700,000
Total Liabilities & Equity

700,000

For the following year, 2005, assume that the company had the following Income Statement and the 2005 ending balance sheet as follows:

Income Statement


Revenues



1,200,000



Cost of Goods Sold


   600,000


Gross Profit



   600,000



General & Administrative Expense



   Salaries



   226,600



   Rent




     60,000



   Repairs & Maintenance

     14,420



   Travel



     23,690



   Utilities



     12,360



   Depreciation



     44,000


EBIT




   218,930



Interest Expense


     30,000


Taxable Income


   188,930



Taxes (35%)



     66,126


Net Income



   122,805



Less:  Dividends


     25,000


Addition to Retained Earnings
     97,805

Balance Sheet - 2005
Cash



   60,000
Accounts Payable


120,000

Accounts Receivable

 216,000
Bank Note



  94,196
Inventory


 240,000
Total Current Liabilities

214,196

Total Current Assets

 516,000







Long-Term Debt


220,000

Gross Fixed Assets

 480,000
Common Stock


  10,000

   (Accum. Depreciation)
(174,000)
Retained Earnings


377,805
Net Fixed Assets

 306,000
Total Equity



387,805

Total Assets


 822,000
Total Liabilities & Equity

822,000


The Statement of Cash Flows for 2005 is constructed in the following format.  Note that the only two balance sheet accounts that are not considered are the cash account (since we are looking at the change in cash that occurs) and the retained earnings account which is based upon the relationship that


Beginning Retained Earnings + Net Income - Dividends = Ending Retained Earnings

Rearranging, dividends can be calculated as:


Beginning Retained Earnings + Net Income - Ending Retained Earnings = Dividends

Since the Net Income (available from the income statement) and the dividends (equivalent to the above relationship) both appear in the statement of cash flows, the change in the Retained Earnings account is covered by including the Net Income and Dividends by the following rearrangement of the Retained Earnings relationship:

Ending Retained Earnings - Beginning Retained Earnings = Net Income - Dividends

Statement of Cash Flows - 2005

From Operations:

   Net Income



122,805
from the Income Statement

   Depreciation



  44,000
from the Income Statement

   Operating Cash Flow

166,805

   Working Capital:

      Accounts Receivable

 (36,000)
180,000 - 216,000 = (36,000)

      Inventory



 (40,000)
200,000 - 240,000 = (40,000)

      Accounts Payable


  20,000
120,000 - 100,000 = 20,000

      Working Capital


 (56,000)

Total From Operations

110,805

From Investing Activities:

   Fixed Assets


 (80,000)
400,000 - 480,000 = (80,000)

Total From Investing Activities
 (80,000)

From Financing Activities:

   Bank Note



    4,196
94,196 - 90,000 = 4,196

   Dividends



 (25,000)
280,000 + 97,805 - 377,805 = 25,000

Total From Financing Activities
 (20,805)


Total Cash Flow


  10,000
110,805 - 80,000 - 20,805 = 10,000

Plus :  Beginning Cash

  50,000
from the beginning balance sheet

Ending Cash



  60,000

Note that the Current Liabilities included in the Working Capital section of the Statement of Cash Flows only includes those accounts that are related to Operations (Accounts Payable) and not those that are related to Financing Activities (Bank notes).  That is, Accounts Payable (and Wages Payable, etc.) are a result of operations (purchases, assembly wages) while the Bank Notes represent a decision to finance asset expansion through debt rather than equity (sale of stock or decreased dividends).  Also note that the ending cash balance is exactly the same as the cash balance on the ending 2005 balance sheet.  This must be true.  If it does not match, then a mistake has been made in the calculation of the Statement of Cash Flows and it needs to be carefully checked to make sure that each asset and liability account (except for cash and retained earnings) has been properly reflected in the statement.
